TN/TRZA GG SEL

B EAMER
A3 ARZEmm 10 | 16 [ 20 [ 25 [ =
IR SnhE
TENR =5 (Z40umBL BRI IE)
ERENTEE 0.15-1.0MPa(22-145psi)
RIERESH 1.5MPa(215psi)
IFEREC -20-70°C
DBNT e m B Emm/s 30-500 s
L -10-0 W R AL
FRAERE <100(+1.0-0) > 100(+1.5-0) SLUEHRARY, AT
FHEH FiERY EERAI I NAE;
FRIEREE () +0.4° +0.3° W EEFRBPTHA
BEORE (D M5'0.8 [ Pris &R
M % E £ % (DBN11-TN-20-50-S)
DBN11-TN
782 Ll EARAEE B FRME
WHSEL(EhE) EE I T,
(TNRF £ HIHE) HRIBH=, )
W S ERHLAR
TN 10 TN 32 o ~PAy ﬂ.“
S | 1
)
PT1/8-28
EENOR EEOR
58+{712 o 108+f7EE
5 IS e T mopE BA2oss [
1752 | @FL:2-93.5 16 14 17 35£0.2+712| JEFL:2-05. T38”
=TI 715 10:02+65% | BA2835. | “mE - MECIRI35 ‘l e
e N[ 1 < -
[ e e @ / o~ é ~ er 1 N N
S|l ¥ &' &-. = I 3 F| [N 1 o= — —3 ‘%@'ﬁgg
Q1 N 3 N il @ K
2-M3x0.5 /| | LB+02@ — = A - “\2-M6x1
®5 2 = \BL2035 2-M3x0.5 2-Mex1.25 17| o5 \ BL2-055
FE:26:76.5 0 FE:09%5.5
%2 [10 [20 [30 [40 [ 50 [60 [ 70 [ 80 [ 90 [ 100 %2 [10]20]30]40]50]60[70[80[90[100] 125 [150] 175 [200
LB [30 [30 [35 [40 |45 [ 50 [ 55| 60 | 65| 70 LB |45/50]|55]60]65/70|75/80[85] 90 [102.5[ 115 [127.5| 140
PA |35 40
- PA PB
TN 16~25 “‘; I
‘ - 1 =97
2-M5x0. 8 EOE
A+1712 c
AB_ AC+{7fE | =~
H DA | 15 JB£0.2+1712 2.4 “,C_A,
111} CE -
w\i _@ TEL é__
o —45 N !
E@L‘-—@;@é? 1= (5 & =
¥y 5 ot =
2K/ [LB202|\ 2L &7 2-M4x0.7

f12| A |AB|AC| B |BA| C |CA|D|DA| G |H J JB K KB | PA | PB L LC| MB | R
16 | 68|15|53|54(53|21/20| 8| 7 |24|6 |fiA07.5R7.518FL04.5) 20 | M4x0.75R5| 34 | 22 | 11 | FiAC8R4.5:EFLD4.5| 47 | 47 3
20 | 78|20 |58|62|61|2524|10| 10 | 28| 8 |iAD7.5:87.5:8F.24.5| 20 | M4x0.7;85| 44 | 25 | 12 | FiND8R4.58F.24.5| 55 | 55 | 3.5
25 | 81|19(62|73{72|30(29(12| 9 |34 [10|/iAD7.5/R7.5:8FL24.5| 30 | M4x0.73%6| 56 | 27 | 12 | FIAD8R4.5@FLD4.5| 66 | 66 6

fagES LB

T < 10 20 30 40 50 60 70 80 90 100 125 150 175 200
16 30 35 40 45 50 55 60 65 70 75 87.5 100 113 125
20 35 35 40 45 50 55 60 65 70 75 87.5 100 113 125
25 40 45 45 50 55 60 65 70 75 80 92 105 118 130

P1630



